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s 13,983,000
J| 10,764,000
< 9,545,100
HZONEAMY =W 10,995,400 22,972,300 A 11,976,900
s 8,458,000
< 2,537,400
22X HE(=2) 2,642,900 2,730,000 A 87,100
s 2,033,000
< 609,900
403 XIS E X201 & 2,642,900 2,730,000 A 87,100
s 2,033,000
< 609,900
01 XXM A2E = 2,642,900 2,730,000 A 87,100
O X MY 2,642,900
s 2,033,000
= 609,900
a2 TA L (=21) 3,380,000 5,957,900 A2,577,900
s 2,600,000
< 780,000
403 Ut SHHSA=0l& 3,380,000 5,957,900 A2,577,900
s 2,600,000
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01 HXSHHMA=E X 3,380,000 5,957,900 A2,577,900
O2st2A2 & M 3,380,000
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< 870,000
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OO0IANE IGAZSEZAS 3,250,000
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01 HIXSHMA2E X 1,332,500 2,665,000 A 1,332,500
o=gitEE =4 1,332,500
s 1,025,000
< 307,500
ggz SdUHA 2E(=22) 2,080,000 1,560,000 520,000
s 1,600,000
< 480,000
403 XIS E X201 & 2,080,000 1,560,000 520,000
s 1,600,000
< 480,000
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J| 803,000
< 240,900
01 HIXESHMA2E X 1,043,900 2,020,590 A 976,690
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J| 686,000
< 205,800
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J| 686,000
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J| 686,000
< 205,800
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J| 823,000
< 246,900
308 MtXIEHMSOIH 1,069,900 1,068,600 1,300
J| 823,000
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J| 823,000
< 246,900
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J| 1,489,000
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& 114,600
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= 114,600
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J| 1,551,000
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J| 1,551,000
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J| 1,551,000
& 465,300
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J| 148,000
& 44,400
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ogt2Ns 43 TNE 192,400
J| 148,000
& 44,400
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J| 196,000
& 58,800
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201 gBt2Ay| 13,000 0 13,000
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01 XIS A=Z2E X 100,000 100,000 0
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2HZ X ZHl ¥ 22 450,000 586,000 A 136,000
2 XAIE HH L 22 350,000 450,000 A 100,000
201 et 5,000 5,000 0
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01 2Ll 15,000 15,000 0
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o2& XAMe FHESs & BIX0HA 13,000
207 A RO 280,000 0 280,000
01 2284 280,000 0 280,000
O=M22N=XH BIEE A71EHA 280,000
308 XXM SO0l A 20,000 20,000 0
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